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SCORE ANALYSIS

Score:  14/ 15

Time Taken: 
 27 min 50 sec / 35 min

Proficient (93%) BEGINNER (0% - 25%)

INTERMEDIATE (26% -

50%)

EXPERIENCED (51% -

75%)

PROFICIENT (76% -

100%)

Babu Deuja scored 93% and completed assessment in 80% of the alloted time

SECTION SCORE ANALYSIS

BEGINNER 
(0% - 25%)

INTERMEDIATE 
(26% - 50%)

EXPERIENCED 
(51% - 75%)

PROFICIENT 
(76% - 100%)

Section Percentage

Node.js Coding
10/10 (100%)

Backend API 4/5 (80%)

SECTION SKILL ANALYSIS

Section 1: Node.js Coding

Question Analysis:

Total Question: 1  Correct: 1  Wrong: 0  Skipped: 0  Not Answered: 0

Section 2: Backend API

Question Analysis:

Total Question: 5  Correct: 4  Wrong: 1  Skipped: 0  Not Answered: 0

Total Score: 10/ 10  Negative Points: 0  Time Taken: 25 min /25 min

Skills #Questions Skill Score

Node.js Coding 1 10/10

Total Score: 4/ 5  Negative Points: 0  Time Taken: 2 min 50 sec/10 min
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Skills #Questions Skill Score

Backend API 5 4/5

DIFFICULTY LEVEL ANALYSIS

Level Number of Questions Correct Attempts Correctness

Easy 0 0 0%

Medium 6 5 83.33%

Hard 0 0 0%

PROCTORING ANALYSIS

Images Captured: 58 Image Violations: 4

 Image violations detected, within tolerable limit.

Window Violation: 0 Time Violation: 0 sec

QUESTION DETAILS

Question: #1 Type: Coding Skill:  Node.js Coding Status:  Answered

Result:  Correct Level:  Medium Time Taken:  25 min 0 sec Average Time:  15 min 11 sec

Score:  10 / 10 Window Violation:  0 times Time Violation:  0 sec

Question #1

Algorithms: Load Distribution 

 

You are working as a server maintenance engineer at an IT company. The company uses 2 server

architectures, the main server, and the support server to execute processes. 

You try to execute most of the processes on the main server, at the same time you don't want to

execute heavy processes on the main server as it will increase the load on the main server and will

decrease the performance of the main server. To handle this problem you decide to route the

heavy processes to the support server. 

 

You are given an integer array that represents the time (in seconds) required to execute a pool of

independent processes. 

Your task is to identify the minimum number of processes that need to be routed to the support

server so that the load on the main server is less than that of the support server. After the routing,

there should not be any process for execution on the main server whose execution time is more

than the execution time of the minimum execution time process on the support server.  A load on a

server is defined as the sum of time required by different independent processes for execution. 

 

Function Description 

In the provided code snippet, implement the provided loadDistribution(...) method using the

variables to print the number of units of gift X and Y you need to make to maximize your sales. You

can write your code in the space below the phrase “WRITE YOUR LOGIC HERE”. 
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There will be multiple test cases running so the Input and Output should match exactly as

provided. 

The base Output variable result is set to a default value of -404 which can be modified. Additionally,

you can add or remove these output variables. 

 

Input Format 

An integer array in which the ith integer represents the time required to execute the ith process in

a pool of independent processes. 

 

Sample Input

1 2 3 4 1 3 1 8

 
Output Format 
A space-separated integer array representing the time required to execute the processes that
is/are being routed to the support server in descending order. 
 
Sample Output

8 4

 
Explanation 
After Routing the load on  
Main server = 1 + 2 + 3 + 1 + 3 + 1 = 11 
Support server = 8 + 4 = 12. 
Hence the output is 8 4.

Coding Language: Node.js

Candidate Code:

function loadDistribution(seconds) { 

    let totalTime = 0; 

    seconds.sort((a,b) => a-b); 

//this is default OUTPUT. You can change it. 

for (let i =0; i<seconds.length; i++){ 

    totalTime += parseInt(seconds[i]); 

} 

let response = []; 

let currentTotal = 0; 

for (let i=seconds.length-1; i>=0; i--) { 

    currentTotal += parseInt(seconds[i]); 

    response.push(seconds[i]); 

    if (totalTime / currentTotal >= 2) { 

        continue; 

    } else { 

        break; 

    } 

} 

 

var result=response.join(" "); 

  

//write your Logic here: 

  

Answer:
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return result; 

} 

  

// INPUT [uncomment & modify if required] 

var temp = gets().trim('\n').split('\n'); 

var seconds = temp[0].split(" "); 

  

// OUTPUT [uncomment & modify if required] 

console.log(loadDistribution(seconds));

Compilation Summary:

Compilation Status: Compile Successfully No Of Compilations:  14
Defualt Input: 
1 2 5 7 8 11 2 13 9 7 5 6

Candidate Output: 

13 11 9 8 

Test Case Summary:

Test Case:  1  Status:  Pass  Score:0

Test Case Input Expected Output Actual Output

1 2 3 4 1 3 1 8 8 4 8 4

Test Case:  2  Status:  Pass  Score:2

Test Case Input Expected Output Actual Output

1 2 1 1 1 6 6 2 6 2

Test Case:  3  Status:  Pass  Score:2

Test Case Input Expected Output Actual Output

1 2 5 7 8 11 2 13 9 7 5 6 13 11 9 8 13 11 9 8

Test Case:  4  Status:  Pass  Score:2

Test Case Input Expected Output Actual Output

17 9 13 11 8 9 5 17 2 10 11 16 3 9 6 15 1
4 11 12 10 11 6 8 3 1

17 17 16 15 14 13 12 11 11 17 17 16 15 14 13 12 11 11

Test Case:  5  Status:  Pass  Score:2

Test
Case
Input

Expected Output Actual Output
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Test
Case
Input

Expected Output Actual Output

4
6 7 4
2 2
4 3
0 4
1 6 1
0 3
2 2
8 13 1
8 1
8 4
7 12 2
7 3
9 2
4 4
7 1
0 2
9 5
0 1
5 4
5 4
1 3
8 4
3 4
7 4
9 1
7 3
9 1 3
3 2
8 16 1
7 18 1
4 6 7 4
2 4
2 4
8 5
0 7 2
4 5
0 4
5 3
2 43

50 50 50 49 48 47 47 47 46 45 45 43 43 42 42 42 50 50 50 49 48 47 47 47 46 45 45 43 43 42 42 42

Test Case:  6  Status:  Pass  Score:2

Test Case Input Expected Output Actual Output

8 8 1 1 9 1 2 8 7 4 1 3 8 9 8 4 3 2 1 6 8 7 4 4 9 9 1 9 1 7 8 1 2 5 2 5 3 4 9 5 2 5 3 2 9 3 9 2 2 2 9 9 9 9 9 9 9 9 8 8 8 8 8 8 9 9 9 9 9 9 9 9 
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